ERB TR F50\ LUl

Through-type Terminal Block

E v F Pitch 21mm

kil
2w, | FR088NE-PKPCA
TE &
ating ACB60V  75A

A I 500V 1000MQ I E
Insulation Resistance | DC500V  1000MQ and over

i & £ 2500V 1 REIE
Withstands Voltage |AC2500V 1 minute and over

Compatikjlae Wire 22.0mm*

—f% N7/ General Tolerance +0.5

‘ RBEScale /5 HAL/Unit mm ‘

I+

A
B

6.5

I+

»
o
Ft
o
~ "
~©
7

6.5

16

28

®
22

—®
1.5

B
b
Bl o

T
|
< f = .
et —
C *1.0
ES]
« P eleleele/® =
! ! ! ! ! !
T T T T T T
o ik [ B4 — ] p.
® Ordering Form : Type No. No. of Poles (P)
O MY A L fEf PV 2 133.0N'm T,
® Connection screw : Tightening torque is 3.0 N-m
W t#E/ Specification.
& /Part No. % #/Part Name # & Material #1& / Standard <tk /Size JLEE /Treatment fis % Remark
1 T+ (A) Base (A) RH—FR A=} Polycarbonate UL B 1 Black
2 i+ (B) Base (B) R)A—=KR A= Polycarbonate UL H @ Black
3 i g Base (C) ARYA—FRA—b  Polycarbonate UL B2 f5 Black
4 SEEAR Terminal ¥ 4 Brass C2680R W TE 2.0 | =97 VAv¥ Nickel-Plated
5 FERLE A Screw ¥ 4 Brass C2700W M6X1.0X16 ¢ | Zy7As% NickelPlaed | PW.SWHEAAFAN  Typels
6 AfiF v b Hexagon nut F23 Steel SWCH M6X1.0 =9V A9%  Nickel-Plated
7 A= Spacer PBT UL 2 f5 Black
8 HHER)V M Connecting bolt ok Steel SWCH M4 X0.7 Zfym3-h Trivent Chromate Treatment F X
9 LA H S Marking strip | RJ#&—K A=k Polycarbonate UL wOE 1.0 Bt White
10 JIN— Cover RH—=FR A=} Polycarbonate UL W OE t1.5 % B Transparence
11 H1N=1E¥ A Cover Retaing screw # 4§ Brass C2700W M3X0.5%X8! 2y A% Nickel-Plated | PW. SWEAANAVR Type(3
B,/ Poles 1p| 2 3 4 5 0 7 8 9 | 10 | 11 | 12| 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
A 50 | 71 | 92 | 113 | 134 | 155 | 176 | 197 | 218 | 239 | 260 | 281 | 302 | 323 | 344 | 365 | 386 | 407 | 428 | 449
B 37 | 58 | 79 | 100 | 121 | 142 | 163 | 184 | 205 | 226 | 247 | 268 | 289 | 310 | 331 | 352 | 373 | 394 | 415 | 436
(o] 24 | 45 | 66 | 87 | 108 | 129 | 150 | 171 | 192 | 213 | 234 | 255 | 276 | 297 | 318 | 339 | 360 | 381 | 402 | 423

150



